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* Bbibepu nogxoasmm oTBET AN KAPTUHKA

He'd like an S She’d like an
She’d like a pear.

apple. He e 1 orange. She

" She wouldn’t like a "

wouldn’t like an wouldn’t like a

onion. potato. tomato.
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« She would like a (an)...

orange
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oTBeT rotos!
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3anaHve 3

* Bbibepu npaBunbHbIM OTBET Ha BOMPOC:
« Would you like a banana?
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No, | would. Yes, | would. 5
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« She wouldn't like a (an)

oTBeT rotos!
> F iy




3agaHuve 5

« Kakoe cnoBo nponyweHo B NpeasioXeHnN:
« ....you like a banana?
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.« Haingn cokpalyeHHble dhopMmbl.
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I'd like He'd like He would like

She’d like | would like She would like

oTBeT rotos!
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